
Metal Sheet



Example of 

Metal Sheet Data



Metal Sheet Design Example :

Select purlin spacing  =  2 m

Select metal sheet t = 0.4 mm (W = 5.15 kg/m2, Ix = 47.12 cm4, 

Sx = 10.76 cm3)

Dead Load  =  0.6x5.15   =    3.09 kg/m

Live Load  =  0.6x30   =  18.00 kg/m

Total Load  =  3.09 + 18 =  21.09 kg/m

Bending Moment  =  21.09x22/8 =  10.55 kg-m

Bending Stress =  1,055/10.76 =  98.05 < 1,500 kg/cm2 OK

Deflection =  =  0.0457 cm
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Allowable deflection  =  L/300  =  200/300  =  0.67 cm OK


